System ORS18: DatemIv’; \;, LCH*, \, teh¥y fur nc*y =(0 1) undolv’y g, LCH*g, tch’e fir nc*z=(0,3 0,5

Daten fiir nc, = (0 1) Daten fur nc== (0,3 0,5)
Farbe ov3y  LCH% M nchy olvg ¢ LCH* k nch*
OrangeroO (100) (588338) (010,11) (0,70,20,2) (384238) (0,3050,11)
GelbY (110) (909296) (010,27) (0,70,70,2) (544696) (0,30,50,27)

LaubginL  (010) (5172151) (01042)  (0,20,70,2) (3536151) (0,30,50,42)
CyanblaucC (011) (5954236) (01066) (0,20,707) (3927236) (0,30,50,66)
ViolettblauV (001) (2654305) (010,85)  (0,20,20,7) (2227305) (0,30,50,85)
MagentaroM (101) (4876354) (010,98)  (0,70,20,7) (3338354) (0,30,50,98)

SchwarZN  (000) (1800) (100,00) (0,20,202) (1800) (100,00)

WeiRW (111) (9400) (000,00) (0,70,70,7) (5600) (0,3 00,00)

Testfarbe52 (10,24 0) (66 7752) (01 0,14) (0,70,240,2Y423952)  (0,30,50,14)
0,24=(52-38)/(96-38) 0,24=(52-38)/(96-38)

Offset-Refektiv-System: ORS18 fiimc*, = (0 1)  Offset-Refektiv-System: ORS18 fiimc*-= (0,3 0,5)
b% olvg m 525(1 0,24 0) b% ol £ 50,7 0,17 0,2)
0.24=(52-38)/(96-38) 0.24=(52-38)/(96-38)

4

k. = ok,
olv¥g . 3g=(1 0 %)IV*aF,lsf(OZ 07 0’2)/ olv*3 £ 3(0,7 0,2 0,2)

olv*3 \m,96=(1 1 0) olv*3 F 96=(0,7 0,7 0,2

OIV*3,M,151:(O 10) / /

olv*3 m,354(1 0 1) olv'3 £ 354(0,7 0,2 0,7

0|V*3'|:'236=(0,2 0,70,7

olv ~011
32360 1 1) OIvia \.305=(0 0 1) OIvis F.305(02 0,2 0,7)
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